=LFDb

3RPLHV]FJHQLH 5RINiDG = ( 7\J
7N
¢
=2
= 7N
8 7N
o BRFIRIRIID ZVSyiFHVQD
T BRFIRRILD iZ G /HQIN BIDQVIDZ
=4 ZVSyiFTHVQD “C Yo =
n Z GUZHQN
6IDQLVIDZ = (
yo
7N
“C
7N 7N
ZUDQIDIRUXP BLIHN ™ ™ = VSYiFTHVON IET\N
*[HIR] * ) IUDQFXVAL VSU TLQIHIU G
o - = \EUDQH U 6NZDUD $QGUTHI *
SIREHP\ | | = \EUDQH ¥/ /)5
DQIRSRIRI] [SUREIHP\
- L DQIRSRIRJ
T ZvsyiFHv| |t
= QHI UZ | |zvsysFIHV
N S\EWDQH | |QHI GiZ Gl
SIREHP\ | | KDE 5
DQIRSRIRY] | = L&QIHZN
L SIRI
ZvsyiFHv| [8-= = ¢
QHI Z "6l )
KDE 5 o :
= 16QIHZVN
SIRI
8-" "(
)
(0] -
7N 7N 7N
™ ™ /RIIND | PHIRGRIRIID 3V\FKRIRJID
4Z BUHN *UTHIRU] * 3VAFKRIRIID ZVSyiFTHVQD G
a 2QIRRIDL Yo = ZVSyiFTHVQD Gl ODUJDVLEVN. $QGUTHI =
o 2QIRIRIDL| |QDXND ODUJDVIEVN. $QGUTHI * Yo -
x QDXND Z | | iz SIRI Yo -
ZF SIRI - yIFIN
- ViFIN - HviDz *
s iz *| |¢
C )Oo =
)O z
7N
=y 3RGVIDZ\ VRFIRIRJLL G
JHQIN 6IDQLVADZ = C
=.0/ -
=
M
o
©




=LFDb
3RPLHV]F]JHQLH 5RINiDG = ( 7\J




